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16.2+7.1+ .34 12 -6.23 76.2x 3.4 92124.376
D
E
C
F 13 125 3.2 64+4%
R +28% -5% 5 3
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C
P 35% OFF 6% TAX on 18 out of 25 of 40
= $28.50 $105.30 20 correct
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-+ 65 m.p.h. 350 miles at 31gal. at 320 miles at
R 3 )% hrs. 60 m.p.h. 83¢ 1gal. 25mpyg.

1 dest. = rate = cost = gal. =
(=4
E 40 hrs., $3.35 /hr. $5.50 /hr. 42 hrs. 46 hrs.

A $5.00/hr. $6.50/hr
R O.T. Wage =
N O.T. Eam = O.T. Eam =




= $6.25 / hr. $12.50/hr. $9.00 /hr. $500 - GROSS
Q 30 hrs. Social Security 7%
N EARN = O.T. WAGE = O.T. WAGE = NET =
F 84 10 -5% 2% X% 2 1
R 52 5 10
A 5
C
; 60 m.p.h. for 300 miles at 225 miles at 30 gal. at
1 4 hrs. 60 m.p.h. 25 mpg. 79¢ / gal.
P dist. = time = gal. = cosl =
. 6.1+7 +18.34 12.2 9572.027 7.1560.23
- 6.34
=
C
Z 70% of 360 20% OFF 6% TAX on 17 % correct
79 4 outof 20
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32 — 112 — 4 — —
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P
5= 10° = V100 = 27 =
A 70, 90, 100 6,935, 10 A BBCCA A AAAAB
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Name

— W—=
. 6+ (-8) 12 (-4) -6 — (+3) (-2)°
~N
T
+7-(-2) -8+(-3) —-72+-8 6(-7)
-21
3 64 34 x% 2+ 3
e 5 -33
R 7 5
A + —
cC :]
D 6.2 +10 +13.47 12.2-6.23 53.2 _51)5,34
x .63
=
C
- 65% of 120 6% TAX on 3out of 5 21 correct
E $12.80 on 25'
R questions
A r [
R “ -—
E 2"
7 ¥ 3" 1o’
v 4"
o A = A -
L =
F'-' C = V= \/ =
T 7:45-2:15 7:30-3:15 8:15-2:10 9AM. -5P.M.
M
=
80, 100, 95 7,8,8,8,9 10 AB,B B,C,D 130, 210
A
\V4
S
;; 70 m.p.h. for 320 miles 240 miles at 40 gal. at
i 5 hours at 60 m.p.h. 25 m.pg. 82¢ 1gal.
(=4
dist. = hours = gal. = cost =

*A=4,B=3,C=20D=1



Name

E 10 104 6x32 2+ K%
R +3% —3%
A
C
12.2 - 5.38 62.3 8.1573.26 7.2 x 1000
D x .51
=
C 16.2 +10
35% OFF 6% TAX 18 out of 8 _
P $250 on $28 20 hits 10
E
R
2°%= 10°= V36 = J50 =
E | b e b mmm e b e
xX
P 3%= 12 = 81= V300 =
P 70, 90, 100, 80 6,98 A B BC,C A A AACBC
=
R
T 7:30-2P.M. 8:45-3:30 7:156-2:30 6 AM.-6PM.
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/
v 4’ A =
o
L A = A = = \/-z
200 miles at 400 miles 30 gal. 5 hours, 60 m.p.h.
LA 50 m.p.h. 20 m.p.g. 72¢ /gal
R .
1 dist. =
| time = gal. = cost =
$6.00 /hr. $10.50 / hr. O.T.Wage $8.00 | Wage $5.00 /hr.
= 27 hrs. O.T. hrs. 3 | OT. hrs. 3
A
R
N eamings= O.T. Wage = O.T. Wage = O.T. Wage =

*A=4B=3,C=2,D=1



Name

16.2 + 8 + .07 52.6 4211923 1.62 x 10
D x53
!l 1 — | eeeeeee e aaaas
< 1.36 + 100
- A 104 33x% 3.1
R 1 -64% 4 8
A _ A
C
20% OFF 6% TAX 21o0ut of .07
= $85 on $32 25 cormrect
=
R
3= (%)’ = 49 = 75 =
=
D> <N ettty I I
= 5%= 107= 64 = 32 =
A | *ABBCDD 7,8,9,6 90, 80, 85 *B,BB,C,DB
\V4
G
T 7:45-2:30 8-3:15 7:30-1:30 7:15-2:30
M
=
- 300 miles at 200 miles 15 gal. 60 m.p.h.
~ 60 m.p.h. 30 mp.g. .82 /gal 7 hours
1
= time = gal. = cost = dist. =
E $5/hr $6.50 /hr. $12 /hr. Gross $260
A 24 hrs. S.S.TAX 7%
': O.T. Wage = O.T. Wage =
earnings = deduct =
¢’ ‘
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*A=4,B=3,C=2,D=1



Name

TIME AVERAGE
— EALE. 1 —
8AM. -2:15P.M. 70, 80, 90, 60
7:30-3:15 7,2,9,8,10
9:156-4:30 60, 50, 80
6 AM.-6P.M. 90, 80, 70, 100
10:15-3:30 3,555
11:05-2:30 ABBCCA
7AM -1PM. B,B,C,C AA
6:20-1:30 A F,BD,C,C
7:15-1 P.M. B, BB,B BB
9AM. -5PM. 7,9,5,10,6,10
6:20-3:15 100, 90, 50, 100
7:20-3:30

100, 0,100

TRAVEL

300 miles
60 m.p.h.
time =

500 miles
20m.pg.
gallons =

70 gal.
72¢ /gal.
cost =

7 hours
60 m.p.h.
distance =

1 inch = 30 miles
5 inches = miles

LV -LA
? miles

LV — San Diego
? miles

Where is &
what direction
195

MONEY

30 hrs. at
$6.25 / hr.

40 hrs. at
$7.15 / hr.

$5.00 / hr.

O.T. Wage =

$9.50 / hr.

O.T. Wage =

43 hrs.
$6.00 / hr.

50 hrs.
$7.00 / hr.

50 hrs.
$7.00 / hr.

45 hrs.
$6.20 / hr.

*A=4,B=3,C=2,D=1




Name

T —— e —— ——— —
E 2% = 6 = 7:20-3:30 9-5P.M
<
=
Y A U [ N PRI
-
i 52 _ 10° = 8:15-4P.M 6:20-3:40
M
=
82 101 2% x 2 83
= ? : s 4
R + 65 - 53
A
C
7.2 +9 +.347 17.2 -12.63 321x6.3
D +9+ X 9.2 520.37
=
C
20% OFF 6% TAX on 9 shots out 7 out of
'; $29.60 $89.35 of 25 8 correct
R
g ’
A
= 5
= 3 ¢ 3'
A lo
/ ' ’
AV 4 4 S’ d
T | A A= ve v-
C-= F = -
A\ | 60,80,70,100, 30, 90 3,5,4,4,40,4 A B B B, B,B AAAAAA
AV 4
G
-6 +(+2) -6 - (-5) -5+ (-10) (_5)2
|
N b e
T
~7 (+5) - 36/ 7 +(-12) -5 (4)
-10
300 miles at 400 miles in 20 hours at regular pay
LA 60 m.p.h. 6 hours $3.35 /hr. $4.50 /hr.
1
L hours = rate = eamings = O.T. pay =

*A=4,B=3,C=2,D=1



